NIREBEERE (RRICRBLEERE) REOHERICONT
MHE CELE REEER

BEHE - RS TLEVISLS
BERE - (1) A=Y LFBHRBHBICED v RARIOAN) =L BIED T
(2) REEHKRBTERICRHELIZ2RE1BZ6BZLIZRE
REVAARS - TR 29 F 9 R 198 ~ TR 29%F 98 26H
B’ & B: TR 29 F 9 R 27 B
z 0 (1) RETRELECORBEHBTEETICENEEIR/IDETHY, REBEE, RIEADK

BFECIOT—ETREHYFEEA,

BHICH - TE, BOERICKDIEDHREHRB (MSv./Ba), REEE2~7& (4R) DR
H(EEFBHEEEREMREBERRER- RERICETIEMOMEREAEY=27

IWEYBIR) EEALEL,

FEREDRELIL, 20BLUTOFEBF70RICHDFETICHRIEST HEE, KAIFREE
(FLLTHLE50FMICHIFLT HBMETT,

(2)

(3)

BRERBREBLIVCRBEIIDFEEEDRE
X 2R ROBRBEZFEL, MESZFAILL,

AIE#EER (Ba/ke) . a1
ENo £ R E & (ke) (FER 22 TIR{E) LI B IES
EtEtE D L1134 | REHEET Y L1137
T TH&H
= ==
1 BIRE 4525 e G 0.000078
- = & H&EH
2 =S5 EREE 3.871 T E 0.000066
- TH&EH H&EH
3 WMIERB 3.970 T A 0.000066
[EHEH]
HERX - BRHTEEBI/Ke)] x TRPBEFRB (MSv./Ba)l X EFEOEELEE(Ke)]

=SS D LRNEBRIFSFEEESDRE (mSy) £4%

BHIZHE-->TIE, BOERICLSIEDRERB(MSV./By), 2~7m% (MR ZFERALT =,

() ELIL134DBETRIENO. 75 €O L137DBETIRIEN1. 31 HBRBEDHREESI. 610kgDIHE

075 X 0.000013 x 3.610 + 131 X 0.0000097 X  3.610 = 0.000081
(Ba/Kg) (mSv./Bq) (Kg) (Ba/Kg) (mSv./Bq) (Kg) (mSv)
(BRRBROFHEXIZDONT]
2™ 1134 2™ L1137 Wﬁgg&"g“
ENo BmH TRE EMREFHE BEhEs + R TR{E EMREFHRE x BEhEs TEEEMR=E
(Bg/Kg) (mSv.”Baq) (Kg) (Bg/Kg) (mSv.”Bq) (Kg) (mSv)

1 0.60 X 0.000013 4525 0.97 X 0.0000097 X 4525 0.000078

2 0.76 X 0.000013 3.871 0.73 X 0.0000097 X 3.871 0.000066

3 0.7 X 0.000013 3.970 0.77 X 0.0000097 x 3.970 0.000066




